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II Year (T.D.C.) Science Examination, 2016
STATISTICS |
(Applied Statistics)
Paper-11I1
Time Allowed : Three Hours

Maximum Marks : 50 .

PART-A (@US-37) [Marks : 10
Answer all questions (50 words each).
All guestions carry equaiAmarks.
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PART-B ( ©@US-¥) (Marks : 25

Answer five questions (250 words each), selecting one

from each Unit. All questions carry equal marks.
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PART-C (EUTE-7) [Marks : 15
Answer any two guestions (300 words each).

All questions carry equal marks.

FE T OUTT HINU THE wvT w S= 300 3= 9
HAfYgE I 7

Tt ¥ ® o Fw mwEe =

PART-A
(EUEg-37)
1. (i) Write down the equation of the Parabolic
curve.
WEeTd T 1 "R fefeu)

(11) Give the normal equations for the fitting of

Exponential curve.
I UG G STEGE % oY WETE ST
ferie

(111) Define Karl Pearson coefficient of correlation.
Fe fToees & Tewwsw s wy o
ST

(iv) If b, . >1, then write the limits of bxy.

Rl by >1,d b EAlsiR: e E‘fiAfu;O‘ 7|
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(v) What are the limits of a Multiple correlation

coefficient 7

T SEEedTR Ule i HEY FA €7

(vi) What is the relation between Simple correlation
coefficient 1Ij, and Multiple correlation

1 9
coefficient R1 P

. S s
T eI e Yoy R SgdedT-y U
R,,, H ¥ "EH ©7/

(vii) Define Time series.

Y [a Vel

FT U ] UR9TEG HITSC

(viii) Write any two methods of obtaining Seasonal

variations.
St fome T e # AR @ e
A d ]
(ix) Define lndex number.
e e F
{(x) Give the formula for Fvisher’s price index

number.

fFyR & Tod goee @ gn foieu)
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PART-B

(Evs-9)

UNIT-I

($HTE-1)

2. Write down the procedure of Fitting of second degree

parabola by the method of Least squares.

=Tau T fafy gm fgerw gvmem £ s 5 &5y

m'aﬂhafrﬁ?m

3.  Find most plausible

following equations :

X — by + 4
2x — 3y + 5
X + 2y— 3

4x + 3y + 1

solution of X and Y from the

5= w90l |9 X9 Y % goifus svgs w9 9@

EAIE

X — Oy + 4
2x — 3y + 5
X + 2y— 3

4x + 3y + 1

2183/70/500

1]
o

http://www.mlsuonline.com


http://www.mlsuonline.com
http://www.mlsuonline.com

2183/70/500

http://www.mlsuonline.com

UNIT-II

($eRTE-I1 )

Prove that -

Corr.
-1< (x, y)S+l.

o5 =ifsu

Corr.
~-1< (x,y) <+1

Explain the concept of Regression in detail.

FETET SEuRn W fawr ¥ osrem wmifsu
UNIT-III

( ZehTE-111)

Fit a plane of regression of X, on X, and X,.
TETHT wiF x, W x, FLx, W AEIT HITT

In a Trivariate distribution :

01 =2,65 =03 =3, I153 =0.7, 1y3 =13, = 0.5, find b, ,

and b13_2'

T 5= 5§29 F .

RIS 2 [Ab12.3 a=i b13.2‘
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UNIT-IV

( F=HTE-IV )

8.  Describe, how would you find out the trend value in
a time series by the method of least squares. Illustrate

your answer by a numerical example.

= = fafy g e ITEia Ton T TG HI?
e ST 9N WE H A E SEEll aEd
SEEIELY

9.  Write a note on Seasonal variation.

o s=EEEs W Tw el fafem
UNIT-V

(THE-V)

10. Show that Fisher’s index number satisfies Time
reversal test and Factor reversal test.

fgg =i fo PR gas® 99 oA 9 T
IeTal TOET H OHGE S o

11. (a) Describe Consumer price index number.

(b) What is Base shifting ? Explain it.

(a) TOEE EF HEHIE H GHARU

~nes

(b) STHR gfEes = %’7 ] Hied
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PART-C
(=Ts-9)
12. Write down the procedure of fitting of straight line
y = a + bx by the method of Least square.
“EAH = fafy B VR WA y = a 4+ bx FaTESs
w1 fafa =1 =vi3 =ifsg

13. In a partially destroyed laboratory record of an analysis
ol correlation data the following results only are

legible -

Variance of x = 9

Regression equations

8x — 10y + 66 = 0 and 40x — 18y = 214, what are :
(i) The mean value of x and y?

(11) Correlation Coefficient between x and y?

(111} The Standard deviation of v?

UF ANNEF BY § T FEIETE % 9egeEey 9T o

favergm wiverm 5§ woaa 9 oy & == S .
x F YEI = 9
EIGEE =i e : 8x— 10y + 66 = 0 3T 40x — 18y = 214,

~,

HEHET T SER R 7 gew w9 Fifsw
() x Ry & =em o,

2183/70/5300 7 P.T. O,

http://www.mlsuonline.com


http://www.mlsuonline.com
http://www.mlsuonline.com

14.

16.

http://www.mlsuonline.com

Gi) x FT y ® A" HWeaEed OIE|

(111) y <pl Wq o= |

Prove that for a Trivariate distribution :
92

. : 2 i
R% = rin + Ti3 — 2Iy9 Y13 Tog
23 2 .
1—133

= R §m ® fou fag wisw

2, L2 . .
RZ.. — iy ~ Y3 — 2119 T13 Y3
1.23 — 1 5 .
— Yog

What do you mean by Time series ? Explain the

various components of Time series.

Wa}vﬁ%aﬁﬁmwwﬁ%?wsﬁnﬁeﬁ
fafa= T2 o A H HAHAEC |

Define Index numer. Describe the various problems

faced in the construction of an Index number.

W’aﬁvﬁwﬁmﬂ 1W'ﬁmﬁaﬁ
e fafa= Tl w1 fge= STl
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